Spring Test 6

Name ................................................................ CIass ................................. Date ......................
1|623—400 = 2/4X1=
8 5 _
5| 3 0f30 = 6|7x8=
7|65=065~+ 8 -4 =
9 =7 X8X5 1042 +7=
1 =270+ 9 12| 38
+85
13| 34 1 6342
X 6 +2798
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Spring Test 6 (continued)

15 -6 =23 16| 2 + 2 —
7 7
17 8020 18| 328 - =8
— 1435
19 — 342 =481 20 =~ 4 =132
21| 2 of50 = 2| 700
—214
\
Total marks /22
J
How well did you do? [+ four-digit numbers 14|17
Colour the numbers of the x0: X1+ 1 2o a7
questions you got correct. 6%, 7x, 9x and 11x tables 6 19 ([10] 1|13
Tables with multiples of 10 ll
Multiply three numbers 9
Formal written short x 13115120
Formal written short =+ 18
Fractions of an amount 5121
* fractions 8 |16
Missing number statements 7 1151181920
+ 12114 (16 | 19
- 3 17 | 22
X 4 6 9 [ 1315 ]20 | 21
+ 710118 21
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